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import sys
sys.path.append("statlib")
from xtest import Bartlett_sphericity_test

Bartlett_sphericity_test(x, verbose=True)
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"df" H R
"pvalue" p fH
"method" WEFik4
"data" FT—=4%
3 {ERAH

3.1 ZEYANEZERITIES

import sys
sys.path.append("statlib")
from xtest import Bartlett_sphericity_test



3.2

3.3

x = [[1, 5,6, 4], #5 o—RX, 4 ¥
[2, 14, 5, 3],
[3, 3, 4, 27,
[4, 2, 6, 6],
[3, 4, 3, 5]1]
a = Bartlett_sphericity_test(x)

Bartlett's test of sphericity

chisq = 1.3618, df = 6, p value = 0.96814
— Rkl zeERT 555

import numpy as np

y = np.array([[1l, 5, 6, 4], # 5 o —2X,
[2, 14, 5, 3],
[3, 3, 4, 2],
(4, 2, 6, 6],
[3, 4, 3, 511D
b = Bartlett_sphericity_test(y)
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Bartlett's test of sphericity
chisq = 1.3618, df = 6, p value = 0.96814
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import pandas as pd

data = pd.read_csv("data/iris.csv") # T—9 7L —LIKHEH#AD

c = Bartlett_sphericity_test(data.iloc[:,

0:4]1) # 1~4 IHBET—4

Bartlett's test of sphericity
chisq = 706.96, df = 6, p value < 0.0001




